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2022.10. 1 WS-01-2016 7.3 6-9 " 2.1 =5 o 16.5 =45 £ 96 =400 3 2893 | = 10000 2 149 =500 i
WsS-01-2016 6-9 i / =5 7= / =45 2 / =400 2 / = 10000 7 =500 2
it ADO 9.5 64.2 678
2022.10.2 WS -01-2016 7.2 6-9 7 1.6 S5 fid 11.9 =45 i 77 =400 i 2766 = 10000 7 114 =500 7
WS-01-2016 i3 6-9 i 1.6 =5 g 132 =45 2 96 =400 2 4268 | = 10000 = 157 =300 i
it A0 9.4 58. 9 £03
2022.10.3 Ws-01-2016 i3 6-9 i At | =5 T 12.3 =45 = 87 =400 A 3551 | = 10000 [ 187 =500 =
WS—01-2016 / 6-9 A / =5 = / =45 i / =400 i = 10000 i ' =500 7
it A0 9 4 57 528
2022.10.4 Ws-01-2016 9 6-9 2 0.3 =5 7 11 45 # 76 =400 2 2096 | = 10000 2 7 =500 5
WS-01-2016 7.1 6-9 T 0.6 =5 i 131 =45 2 87 =400 i 3125 | =10000 2 183 =500 7
it A0 10.2 -~ 187 1319
2022. 10.5 wS-01-2016 7.4 6-9 i 3.5 =5 i 12 =45 i 79 =400 i 3839 | = 10000 7 130 =500 B
¥5-01 2016 ' 6-9 3 / =5 R / =45 B / =400 m =10000 | % ' =500 R
it A3 10 79 216
2022.10.6 WS-01-2016 7.2 6-9 = 3.1 =5 i 8.9 =45 £ 92 =400 i 2284 | =10000 2 268 =500 7
WS-01-2016 8.4 6-9 o 2.3 =5 72 5 =45 = 54 =400 i 1428 | =10000 2 116 =500 7
itt KO 9.3 111.3 229
2022.10.7 WS-01-2016 8.5 6-9 i L] =5 i 4.2 45 b 46 =400 i 561 = 10000 i 46 =500 i
WS-01 2016 B.7 6-9 i 1.9 =5 & 3.4 =45 = 45 =400 R 346 = 10000 it 40 =500 i
itAn 57 511.4 1021
2022.10.8 WS-01 2016 8.7 6-9 £ 1.4 =5 & 3 =45 7 49 =400 i 193 = 10000 & 53 =300 i
¥5-01_2016 7.1 69 2 1.5 =5 i 6.9 =45 i 85 =400 it 1573 | =10000 2 253 =500 7
it K0 5.3 448. 8 1755
2022.10.9 WS-01 -2016 7.9 6-9 2 1.9 =5 2 3 45 I 49 =400 i 314 = 10000 [ 51 =500 7
WS-01-2016 7.2 6-9 it 0.7 =5 I 5.1 5 7 72 =400 B 12908 | = 10000 [ 183 =500 7
A0 5.6 315.6 634
2022.10.10 WS-01-2016 8.1 6-9 a At =5 [ 3.9 =45 i 44 =400 ] 553 = 10000 3 31 =500 i
WS-01-2016 7.2 6-9 i 0.8 5 R’ 8.6 =45 i 76 =400 [ 2603 | = 10000 [ 186 =500 B
| itkD 6 233. 6 695
2022.10.11 WS-01-2016 8 6-9 i Atk =5 It 4,2 =45 I 45 =400 i 306 = 10000 2 51 =500 B
WS-01-2016 7.6 6-9 £ | 2.4 S5 R 0.4 =4 I 33 =400 I 128 | =10000 i 29 =500 7
it AD 8.8 606. 1 798
2022.10. 12 WS-01-2016 7.9 6-9 it 27 =5 I 6 =45 m 84 =100 R 2479 | =10000 o 233 =500 £
WS-01-2016 7.2 6-9 i 1.9 =5 it 7.9 =45 I 06 = 400 B 3218 | =10000 W 245 =500 7
itAkD / / /
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WS-01-2016 7.5%4 9 =5 i 2.1 =45 i 42 =400 i 116 = 10000 3 2 =500 2
i#AD 1058 <& 1> 0.5 1129
2022. 10. 16 WS—01-2016 7.9 6-9 T4 34 .8 =5 2 3 45 2 16 =400 R 238 | =10000 3 28 =500 7
WS—01-2016 7.3 - 1.3 =5 b 14. 6 =45 i 58 =400 I 2079 = 10000 i 209 = 500 i
A0 /
2022.10.17 WS-01-2016 7.5 6-9 2 2 =5 i 13.6 45 i 73 =400 2 1503 | = 10000 i 120 =500 [
WS-01-2016 6-9 iz = i i =45 2 f =400 i = 10000 7 / =500 2
it K 11 651.5 1994
2022. 10. 18 WS-01-2016 6-9 iz =5 i o =45 i / =400 7 = 10000 i =500 [
WS-01-2016 i.5 6-9 = 2.2 =5 i 15.5 =45 2 112 =400 [ 1974 | =10000 i 156 =500 7
it A0 10.9 548. 2 2174
2022.10. 19 WS-01-2016 7 -9 i f.2 5 i 13.5 =45 it 122 =400 = 3834 = 10000 i 200 =300 I3
WS-01-2016 7.3 6-9 7 A b =5 o =45 & 61 =400 iz 4079 | =10000 & 252 =500 7
it A0 /
2022. 10. 20 WS-01-2016 6.9 6-9 7 0.4 =5 i 7.4 =45 = 113 =400 7 6887 | =10000 L4 188 =500 i
WS-01-2016 6.9 6-9 7= 1.2 =5 iz 12. 2 =45 i 78 =400 7 5972 | =10000 " 152 =500 [
it AO 11.3 709. 7 1180
2022. 10. 21 ¥S-01-2016 i1l 6-9 i 2 =5 & 0.8 =45 g 76 =400 = 1325 | =10000 7 158 =500 7
WS-01-2016 3.3 6-9 2 2.6 =5 i 12.9 =45 i 100 =400 7 1648 | =10000 2 159 =300 3
A0 11.3 598. 1 150
2022. 10. 22 wS-01-2016 3 6-9 2 3.1 = = 8.5 =45 = 90 =400 7= 53762 | =10000 g 119 =500 B
WS-01-2016 / 6-9 2 / =5 = / =45 i / =400 = = 10000 7 =300 it
it A0 11.1 543. 3 1986
2022.10. 23 WS-01-2016 7.1 6-9 iz 1.6 =5 o 8.4 45 = 124 =400 g 5207 | = 10000 i 150 =500 [
WS-01-2016 7.4 6-9 2 0.9 =5 it 13.5 =45 i 82 =400 &g 6747 | =10000 i il6 =500 i
A0 11.1 762. 2 1282
2022. 10. 24 WS-01-2016 7.3 6-9 i 1.4 =5 it 10. 2 45 2 128 = 400 £ | 63546 = 10000 i 5 =500 it
WS-01-2016 B.7 6-9 i 0.5 =5 e 1.9 =45 i 86 =400 & 353 = 10000 i KK =500 2
it A0 10.9 917.8 1741
2022. 10. 25 WS-01-2016 .2 6-9 . 1.1 =5 i 9.5 =45 i 67 =400 o 5723 | = 10000 i 196 =500 i
WS-01-2016 7.1 6-9 A 1.2 =5 i 1.2 =45 i 88 = 400 it 7706 = 10000 [ 180 =500 &
it A0 10. 8 551.8 1749
2022. 10. 26 WS-01-2016 7.4 6-9 i 1.4 s5 it 9.5 =45 it 55 =400 & 4533 | = 10000 s 171 =500 &
WS-01-2016 7.3 6-9 & L7 =5 I 13. 3 =45 i 94 =400 [ 4969 | =10000 it 154 =500 =
it K0 10.5 240 1227
2022. 10. 27 WS—-01-2016 .1 6-9 it 3 =5 ) 5.6 =45 [ T4 = 400 [ 4470 | =10000 B 188 =500 27
WS-01-2016 7.4 6-9 2 1.4 =5 W B.1 =46 it 8l = 400 3 1699 | = 10000 i 255 =500 7
itAKD 10.9 509 1261
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it A0 07/~ 287.4 1490
2022. 10. 30 WS-01-2016 b 1.9 =5 i 9.6 =45 i 78 = 400 i 5429 | =10000 R 265 =500 2
WS-01-2016 7o 1.5 =5 i 8.6 =45 Ji 110 =400 fi 6376 | = 10000 i 406 =500 i
tAn e / /
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